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NO| Rk K% EBXS F—EE | FoHE | F=2EE SoER NE {3z
1| 47kg Rk = EE 30 32.5 %35 325 1
2 | 52kg | L% MKRF FiEgs 77 42.5 47.5 X50 475 1
Al 3 A s F-7v Ri5
5| 4 | 57kg A SRS FAEs 77 30 32.5 %37.5 325 1
L5 BiE H—Hp &Y 77 90 95 X100 95( 1
I | 6 & Bk *-7Tv 60 62.5 X65 62.5| #-7>
7| 7| 59%g Sl -7 107.5 112.5 115 115| #-7v
8 =5 8E % 80 85 90 90| -7+
9 KB N FAEs 27 95 %100 %100 95| 2
10 hnek #X EE 100 Xx102.5 102.5 1025 4
11 =H B¥ EE 105 110 X115 110 2
B |12 ¥ Fif &Y 77 95 %100 X100 95( 5
4| 13| 66kg RE K& FiEgs 77 142.5 150 X155 150/ 1
|14 INE R *-7Tv %97.5 X97.5 97.5 97.5| #-7>
| |15 /NN FREY 77 100 105 107.5 1075 3
7|16 NI RER FAEs 77 90 X100 %100 90| 6
17 KT EA *-7v 105 110 X112.5 110| #-7~
18 = ET il % 85 90 %95 90| -7+
19 BH EE &Y 77 150 157.5 X165 1575 1
20 | 74kg it fE— *-Tv 110 X120 %130 110| #-7~
21 il IE= EE 70 X75 75 75 4
22 L5H ER EE 105 115 X125 115 2
23 NS R FiEgs 57 100 105 107.5 1075 3
24 £ I th *r-Tv 145 150 X155 150| #-7>
25 X B *r-Tv 100 105 107.5 107.5| #-7>
26 INAS EKER &Y 77 115 X125 X125 115 5
C |27 =R 8B *F-7v 115 X120 125 125| #-7v
5| 28 R (i *-7v 120 125 135 135| #-7v
|29 T Kigh FAEs 27 85 %90 90 90( 6
I | 30 K iER Ao 27 Ri5
7| 31| 83kg = #a FAEsv 57 127.5 130 132.5 132.5| 2
32 BH Fm *-7v X175 X180 %180 - F-7
33 KH #H— FiEY 77 120 125 130 130/ 3
34 it A *-7v 115 X120 X122.5 115| #-7v
35 B B FiEY 77 145 150 152.5 1525 1
36 =it F=E FAEs 27 X115 115 117.5 1175 4
37 =H 57 F-7Tv 125 135 %140 135| #-7>
38 AR S5 FiEgo 77 115 122.5 125 125 3
39 =H FKEB FiEY 77 100 105 107.5 1075 5
40 H (i *-7v Ri5
D |41 HEL B FiEY 77 125 135 X140 135 2
5| 42 | 93kg ER R *-7v 115 125 %130 125| #-7>
| 43 WL BEk *-Tv 140 X150 X150 140| #-7v
| | 44 Nk & *-Tv 137.5 142.5 147.5 147.5| #-7>
7| 45 =i E FAEgs 27 150 - - 150 1
46 =i Es FiEgs 77 120 125 %130 125 4
47 INEF R *-Tv 110 120 130 130 #-7>
48 Rt B FAEgs 27 140 150 155 155 1
49 | 93kgiE M BE *-7v %180 190 %200 190 #-7>
50 = ER *-7v Ri5
51 =TT RAHR &Y 77 125 130 X137.5 130 2




